SET 5
443/2 AGRICULTURE MARKING SCHEME.

SECTION A

1. Maintenance of Rotary Mower 

(i) The blades must be checked for sharpened.  If blunt they should be sharpened.

(ii) Worn-out blades should be replaced.

(iii) The mower should be cleaned after a day’s work.

(iv) Check for loose nuts and bolts if there are any, they should be tightened.

(v) Worn-out guards should be repaired or replaced to ensure total protection. 

(vi) Rotating parts should be lubricated.

(vii) Unpainted parts should be cleaned and oiled before long storage. 

                           ( 3 x ½  = 1 ½ mks)

2. Advantages 

a) It is possible to compare animals of different age groups since heifer locations are used. 

b) It eliminates difference brought about by  the environment since average performance of the herd is used.

c) It is possible to make direct comparison of bulls at different Artificial Insemination centres since the  environmental differences are removed. 
d) It is accurate.  Contemporary comparison method can only be used accurately in large herds of animals.

                       ( 3 x ½ = 1 ½ mks)

3. -    Most rivers are small and seasonal.
· It is expensive to harness the power.

· Most farms do not have access to large volume of moving water. 

(3 x ½ = 11/2mks) 

4. -    Identify the parasite or causal agent correctly.

· Use the best available drug at the right time.

· Give the treatment at the most advantageous time in relations to the life cycle of the parasite.

· Livestock management must be adjusted to make the best use of knowledge of the ecological requirement of the parasite when it is passed out in feaces.    (2 x ½ = 1mk) 
5. -     By injection.

· Orally through the mouth.
· By inhalation through the nose

· Through the cloaca 

           ( 4 x ½ = 2mks)

6. (a)  Immunity 
Refers to the ability of an animal to resist the infection of a disease. 
(1mk)

(b) Curative treatment 

 It is a state of trying to restore a sick animal to health. 


(1mk) 

7. -    They are simple is construction 

· They have fins and a fan blade which assist the circulation.

· They are light in weight for they have no radiators and water jackets. 

                                          (3 x ½ = 1 ½  mks) 

8. (a)  -    Corriedale 

· Romney Marsh 

· Hampshire Down 

· Karakul 

      (Award 3 x ½ = 1 ½  mks)

    (c)  Asia 

(1/2mk)

9. -    Body size or weight of the animal.
· Physiological condition of the animal. 

· Level of production.

· Purpose for which the animal is kept.

(3 x ½ = 1 ½ mks) 

10. -    Brucullosis 

· Anthrax 

· Black quarter 

· Calf Pneumonia 

· Mastitis 

· Rift valley fever. 

(4 x ½ = 2mks) 

11. -  To introduce new genes in an existing herd.

· To exploit heterosis that is high breed vigour, a cross- breed performs better than  the average of the two parents.

· To establish a new breed or a grade animal.

( 2 x ½ = 1mk)

12.             - Tatooeing 

· Neck strap.

(2 x ½ = 1mk) 

13. (a)  Out crossing is mating of two animals to form different breeds. 
(1mk)

(a) Mating of unrelated animals within the same breed i.e Friesian cow in Kenya is served with Friesian semen of a bull in England.


(1mk)
(b)  Cross breed is mating of two animals for form different breeds. 
(1mk) 

14. (a)  -    Restlessness.
· Frequent urination.

· Swelling and reddening of the vulva.

· Clear or slimmy mucus discharge from the vulva. 

· Frequent mounting on others.

· Responds positively to riding test 

    (3 x ½ = 1 ½ mks) 

(b) -    It becomes restless.

· The vulva turns red and swells. 

· The udder becomes full with a milky fluid.

· The sow starts to build a nest by collecting some bedding at one comer of the pen.

(3 x ½ = 11/2mks)  

15. Fresh water snail 


(1/2mk) 

16. -    They are not expensive to buy and maintain.

· They are economical in fuel consumption.

· They can be used in a widen range of farm land including hilly areas. 

· Can be used to perform small tasks within the farm which would be uneconomical to do using four stroke cycle engine.

                                         (3 x ½ = 1 ½  mks) 
17.    -    Cause anaemia 

· Deprive the host animal of food 

· Cause injury and damage to tissues and organs .

· Transmit disease (act as vectors of some diseases).

· Cause irritation to animals making them uncomfortable

· Cause obstruction to internal organs, particularly the internal parasites. 

(4 x ½ = 2mks) 

18. (a)  - High digestible and it is suitable for the digestive system of a calf which is not 


   fully developed. 
· It is highly nutritious and contains vitamins for growth and disease resistance.

·  It has antibodies that enable the calf to resist early disease infection. 

· It is  good in cleaning the bowels  of the calf (has laxative effect).

· It is highly portable 

(4 x ½ = 2mks) 

    (b)  Oestrogen  hormone 


(1/2 mk

Section B
19. Step 1 
400  x 12 kg of dry matter / day 
100

      - Silage contain 40% dry matter, the above will require 12 x 100 = 30kg of DM/day 
                                                                                               40



· The total daily DM requirement for this cow is 30kg/day.  Only 50% of this total DM for the cow should come from silage.  Silage requirement for the cow will be ½ its daily requirement = 30 = 15kg / day 

                                                             2




   The cow will be given 15kg of silage per day. 




(2 x 1 = 2mks) 




(1mk for calculation and 1mk for correct answer) 

20. (i)         To control external parasites i.e ticks 


(1mk)
(ii) Should be harmless to both human and livestock.

(iii) Should remain strong and effective after having been fowled with drug, mud or hair. 

(iv) Should have the ability to kill ticks. 

(3 x ½ = 1 ½ mks) 

21. (i)   F-  Lateral adjusting lever
G- Handle

H-  Adjusting nut 

I- Knob. 
(ii) It is used to plane rough surface of wood to produce a smooth and attractive surface. 







(1/2mk) 

(iii) -  Circular planes. 

-  Scrappers 

- Spoke shave plane 

22. (i)  Q – Pvc sheet (polyvinyl chloride) 

R- Hard core

S- Foundation 

                       (1 ½ mks)

(ii) -  Stop termites rising up the wall.

-  Prevent moisture / water rising up the wall. 



(1 x ½  = ½ mk) 

(iii) -  Availability of the materials

-  The use of the building

-  Weather conditions of the place.

-  Cost of the materials.

-  Level of technology to be used. 



(4 x ½ = 2mks)  

23.  (i)  T- Ox- drawn / animal drawn cart.

(1/2mk) 
M- Trailer / Tractor drawn trailer. 
            (1/2mk) 

     (ii)  T- By means of a yoke.


(1mk)

           M- Use of draw bar. 



(1mk) 

   (iii)  Advantages
· Can work in areas with poor roads or where tractors cannot operate.

· Require less power to operate

· It is cheaper

(2 x ½ = 1mk) 

   (iv)  Maintenance practice of T. 

· Moving parts should be oiled or greased regularly in order to reduce friction and wearing. 

· The yoke should be properly maintained e.g repair when worn- out

· Tyre pressure should be checked daily before the start of the work. 

· Other visible damages on the cart should be repaired 

(2 x 1 = 2mks) 

SECTION C
24. (a)        Procedure
(i) Restrain the animals appropriately in the crush.

(ii) Read the label and follow the manufacturers’ instructions.
(iii) Measure the correct amount of drug into the bottle, a drenching gun or a syringe.

(iv) Place your hand over the animals’ nose and open the mouth while raising up the head slightly.  Avoid overstretching the neck. 

(v) Place the mouth of the drenching gun or bottle into the animals’ mouth through one corner without holding the tongue to allow the animal to swallow the drug.   

(vi) Push the drug slowly under the tongue allowing the animal to gulp it bit by bit. 

(vii)  Incase coughing occurs during the administration stop the operation at once and resume cautiously when coughing stops. 

(viii) After drenching hold the moth closed for a few seconds to ensure that the drug has been swallowed completely.
                       ( 6 x 1 = 6mks) 

(b) Advantages of deep litter system. 

(i) Many birds can be kept in a small area hence allows high stocking rate. 

(ii) Labour requirements such as collecting eggs, feedings and turning the litter is low as one person can care for many birds.

(iii) The system can be used to rear breeding stock.
(iv) Birds are safe from predators and thieves since they are kept indoors throughout their lives. 

(v) Fast accumulation of manure.

(vi) Less loss of eggs. 

(vii) Easy to establish or identify and cull those birds which are not laying.
                            ( 7 x 1 = 7mks)

(c) -    Age of the animals.
· Condition of the animals.

· Stage of lactation and pregnancy.

· Completeness of milking 

· Breed differences.

· Season of the year.

· The type of food eaten by the animal.

· Presence of a disease i.e mastitis 

(1 x 7 = 7 mks) 

25. (a)(i)   -  Parasite control 
· Disease control

· Castration 

· Identification 

· Removal of Extra teats 

· Dehorning / disbudding

· Housing 

(Award 1 x 5 = 5mks) = Award a mark for every well explained question.

(ii) Castration using a surgical  blade 

Castration using a surgical blade is known as open castration.  The animals’ bleeds severely since the body tissues and blood capillaries are cut open. 

Procedure 

1. Restrain the animal by securing it with a rope or by being held by two people 

2. Expose the scrotum and grab it using one hand.  The other hand holding the blade or scapel.

3. Feel the testicle in the scrotal sac and push them backwards leaving an empty skin of the scrotum.

4. Cut the lower part of the scrotal sac and remove the skin completely.

5. push the testicles downwards so that they appear through the cut scrotum 

6. pull out the testicles one after the other and cut the spermatic cords to disconnect them as shown in the illustration below

7. apply aerosol spray which is, gelatinous violent to facilitate fast drying of the wound and to repel off the flies 

8. Release the animal. 

                                  ( 1 x 5 = 5mks)

(b) (i)  Predisposing factors of calf Pneumonia 


-  Poor ventilation leading to lack of enough oxygen 


- Overcrowding 


-  Age - Young animals are more prone to the disease 


-  Effects of diarrhoea and other illness. 



          (1 x 3 ) = 3mks)


(ii)  Signs of the disease; 

· Animal/ calf becomes dull and reluctant to move 

· The animal develops a rough hair coat 

·  Animal becomes emaciated 

· Animal breath rapidly 

· There is abnormal lung sounds such as hissing, gurgling and bubbling when breathing 

· If the chest is pressed the animal starts coughing, congestion of bronchioles is common 

· Fluctuating body temperature 

· Nasal mucous discharge 

(1 x 5 =   5 mks) 

(iii)  Control measures 

· Keep young animals in warm pens

· Maintain good sanitation 

· Isolate affected animals and nurse them in warm pens 

· Early cases should be treated suing antibodies 

(1 x 2 = 2mks) 

26. (a)  Routine Management of the Fish and the Fish Pond

1. Feeding the Fish 

a. Feed the fish daily.

b. Use bread crumbs or rice bran.

c. Press the feed into dry pellets before feeding. 

d. Always feed the fish at the same time and the same spot preferably at the shallow end. 

e. Avoid excess feed which may decay and pollute the pond. 

f. Feed the fish for 6 days a week to give them chance to eat other feeds in the pond. 

2. Fertilising the pond to encourage growth of planktons

a. Put compost manure in bags and place at the corners of the pond so as to release the nutrients slowly.

b. Avoid NPK fertilizers at a rate of 4 kg for every 200 m2 of the pond. 

3. Maintenance of the pond. 

a. Check the walls and repair any cracks.

b. Cut grass around the pond. 

c. Remove any water weeds and other weeds growing at the edges. 

d. During harvesting check the pond bottom and remove the organic matter that has build up. 

                            ( 4 x 2 = 8mks) Award 1 mark for stating and 1 mark for explanation.

(b)  Processing honey using heat method 

i. Heat some water in a sufuria

ii. Put honey combs in an enamel basin or any other container which is not made of iron.

iii. Put the container with honey combs on the boiling water 

iv. Heat until most of the honey melts

v. Separate the melted honey from the combs by straining through a muslin cloth.

vi. Keep honey in a container to cool down. 

vii. Remove the wax layer that may form on the surface of the honey. 

                                 (1 x 7 = 7 mks) 

(c)-Can be used in afield with obstacles and stumps because of the rolling action of the disc.
     - A disc plough cuts at varing depths hence cannot lead to development of hard pan layer.

     - It is not easily broken by obstacles since it rides over them unlike mouldboard plough which is rigid and cnnot override them.

     - It requires less power to pull when in operating it.

     - Disc plough works well in a sticky and scoring soil.   ( 1 x 5 = 5mks)
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